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CELL 72
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CELL 72
100 - 150 ft
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150 - 200 ft
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CELL 72
200 - 250 ft
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CELL 72
250 - 300 ft
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CELL 72
300 - 350 ft
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CELL 72
350 - 400 ft
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1176+04

400 - 450 ft

CELL 72

1175+54

12’

50'

o
<

S P IS NP VN N IO N ISUN P N FUN U Sy

20"

(<

5 PPN IS SN N I p—— i o . i i W
o
e

o 2

T 5

= )

g 2

= a

. £ ©

o (] o

g © 5 = B © t

o 1) - o

50'

20

30'

20'

10'



CELL 72

450 - 500 ft
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CELL 72
500 - 550 ft
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1177+54

550 - 600 ft
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CELL 72
600 - 650 ft
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CELL 72

] . = — < c
= @ < O © N
o =)
n [rs)
=) o
< <+
N
-
3
el i IR SR SRR SRS —
) -
© o
3 (2] 4
©
2 T
- i
- A |
A ¥
L N
X -
[ W |
¢
\ x “
d: \ ]
:
5 | x
~ N\ i |
i I
o J
1 \
©
£ SRS R P [ R U U VU A [N AN S N
i
- ] -
o 1 [=]
N N

=)
Ji —
; - /
i e s e o s I e i i e e el |
® 2
c T
« e |
< e |
S o)
+ 2 £
© £ a
~ = a
- n = @l
-~ [=] [=] oo
™~ © < = < © ¢
o ) o



